
 1 

 
 

Item # | Product Name:   302365 Side Connector WA Dock to Pro Port  
 

Parts List: Tools Needed: 

1.  Plastic Bottom Connector qty 2 1. Ratchet and 9/16” socket 

2.  Plastic Top Connector qty 2 2. ¾” wrench and ¾” socket with ratchet 

3.  Plastic Dock Connector qty 2 3.  

4.  ½” x 9” bolt qty 2, ½” fender washer qty 4, ½” nylock 
nut qty 2 

4. 

5.  3/8 x 2” bolt qty 6, 3/8” lock washer qty 6, 3/8” heavy 
washer qty 6 

5. 

6. 6. 

7. 7. 

 
Assembly Instructions:   
 

1. Slide plastic dock connectors into the H-channel on the dock at the location the port will be placed. Be 
sure the three threaded inserts are facing up. The connectors should be placed approximately 97” apart. 
Secure at least one of the connectors to the dock through the slot in the dock deck. Use the 3/8 x 2” bolt, 
lock washer and heavy washer. It may not be possible to secure them both. 

  
  
  

 
  

 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

www.wavearmor.com 

Secure at least one of the connectors 

here. 



 2 

 
2.  Attach the plastic side connectors to the port as shown below. Secure with the 3/8 x 2” bolts, lock 

washers and heavy washers. 
 

 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 

3.  Move the port into position alongside the dock. Plastic connectors on the port should align with the 
connections on the dock. Adjust as necessary. Secure with the ½ x 9” bolts, washers and nylock nuts. 

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 

Secure with bolts here. 



 3 

4.  Completed installation. 
 
 

 


